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4. The parent fupction f(x)= 2° is transiated right 4 units, and 3 Y $‘h *K
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translated up 3 units to create g(x). Use the description to write

mnential function. & 4
O a) g(w)___22+4;3 D@ g(z)=23-4 + 8 “‘ *&_ a *
O o g(z)=2"" +3 O d g(z)=2""*-3 \(5 "'3
5. What is the horizontal asymptote for the function h z ¥ 4
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6. [(x 1 T2 13 s | Write the equation for the exponential function m" .
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7. Whatis the initial value of the function f () = 122 (1/2)*™" \
— e
’ =4.9%
0 a) x O b) 122 Y

D@ 122 O d) -1

8. f(z) = 40,000(0.26)" Using the equation. Does this > l -
equation represent a growth or decay? ﬁ Y% x‘t)(m b . a"l
Why? b"\-

O / Growth; the Base is greater than one O )Vbecay; the Base is greater than one
O / Growth; the Base is less than one E@ Decay; the Base is less than one



8. Jacky currently has 3,000 followers on instagram. Her
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many followers will she have in 3 months? ‘

{1 a) 6,000 followers

D@ 24,000 followers

J b) 12,000 followers

5 S [J d) 48,000 followers '.”cq

10.  The function f(x) = 10,000(0.922)* whmxhﬁnmm
years, models a declining Bdugawhdopopuhﬂon How

many whales will there De

[0 a) 8500
O c) 46100

11.  Find the geometric sequence with ratio r = 4.
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5, 20, 80, 320, .
O -4, -16, -64, -256, .
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1 ey What s the gxplicit formula for the sequence shown in the
! table below? ah‘ “J r
O a, = 4(-3)" =] ¢ PREETE T4
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D/’ an = 3( 4)n_ 4' D)fa" = 3(—4)’1”1 h——
13 4 <.:::.:: Considerthis pattern. Which explicit function represents > "L -
1 v __SiiiiIl. the sequence that represents the pattern? r "3
e 5313 BEEINELS -4
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14. * Using the graph above: What is the x intercept? =
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O a) (-6, 0) D@(ss 0) *’ "

F( c) (0, -5)
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5. \ © 1 Using the graph above: What is the asymplots?
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Ody<-7 Ody>-71
17. 11 Filingin the table above for the function below. What is f(x)

when x=-1?
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0@ 2 Ob) 6 k\’\\" 1

0 c) 12 [J d) -54
18. {.'. ,L‘ { ! { - { . { L { : { Filling in the table above for the function below. What is f(x)
when x = .9:
\t*'
f@ =208 RA\NY? "L\."\
O a) 54 O b) -12

o(Q 0 d -2
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when x = 1‘?
| fw -2 KU)* "1-\3)'

0 a) % O b) 2

u@-is O d) -54

20. ST """ Filingin the table above for the function below. What is f(x)
whenx=z? )
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flz) = —2(3)8" | Rq - ’1‘\3’)

D@-& 3 b) -12

0o K O d -2




